Get ready for **Back to School 2025** with Officeworks School List Service

We are delighted to announce that your school has chosen to partner with Officeworks for your 2025 booklist requirements.



Please scan the QR code to watch our <u>quick how-to video</u>, or follow the below steps to complete the booklist process for your student/s for 2025.

How to Order:

- 1. Go to the School List Service officeworks.com.au/booklist
- **2.** Search and select your student's state, school and year level.
- Enter your student's name, set your location for either Delivery or Click & Collect, and review the booklist determined by your school.
 You can change quantities, colours, or remove an item entirely. Only order what you need for the new school year.
- **4.** Once you're ready, hit the "Add selected to cart" button. You can now add any extra items to your cart from the Officeworks website, such as lunchboxes or drink bottles.
- 5. Choose Home Delivery or Click & Collect.
- 6. Pay for your order.

We have flexible delivery and payment options to suit your needs.



Deliver to door, or pick up in store.

With home delivery and free Click & Collect you can pick the option that suits you.



You can buy now, pay later. Officeworks offers a variety of payment methods for your convenience.

Shop with ease using Officeworks School List Service





Additional information & key dates:

- The School List Service is available November 2024 2 February 2025.
- Place your order by 6 January 2025 to ensure delivery by Term 1.
- School List Service prices are available online only and not applicable in-store.
- Raise separate orders for each student's school list if separate packing is required, otherwise all ordered items will be consolidated.
- Direct any queries relating to Voluntary Contributions to your school.
- Orders >\$65 in metro locations are delivered free of charge. For full delivery terms and conditions please refer to <u>officeworks.com.au/delivery</u>
- If an item is not in stock when ordering, a substitute product will be offered.
- If an item becomes unavailable after ordering, it will be cancelled, and an email notification and refund will be issued.
- Visit officeworks.com.au/contact-us for any delivery/order related enquiry.





Shop with ease using Officeworks School List Service

Back to School, all sorted. officeworks.com.au/booklist

Mundaring Christian College			YEAR 6		
Code	Description	Qty	Essential	Unit Price (incl. GST)	Total Price (incl. GST)
GENERIC STAT	IONERY				
AR105174	Artline Supreme Whiteboard Markers Bullet Assorted 4 Pack	4	Yes	\$5.50	\$22.00
GEEK70BK	Artline 70 Permanent Marker Black	1	Yes	\$3.15	\$3.15
GI120001	Artline 200 Fineliner 0.4mm Black	2	Yes	\$1.98	\$3.96
JB2008802R	J.Burrows Recycled A3 Display Book 20 Pockets Black	1	Yes	\$8.95	\$8.95
JBCLIPFBE	J.Burrows A4 Clipfolder PE Blue	1	Yes	\$4.00	\$4.00
KJIE5192BK	Keji Earphones with Inline Mic Black	1	Yes	\$3.00	\$3.00
NBDSPBBK	Keji Display Book A4 20 Pocket Refillable Light Weight Black	2	Yes	\$1.20	\$2.40
PA182102	Artline Smoove Ballpoint Pen Red	4	Yes	\$0.39	\$1.56
PA182103	Artline Smoove Ballpoint Pen Blue	10	Yes	\$0.39	\$3.90
PA8467010	Maped Greenlogic Scissors 17cm	1	Yes	\$2.26	\$2.26
SM49639	Studymate Metal Wedge 2 Hole Sharpener	1	Yes	\$0.99	\$0.99
SMA4LAPBK	Studymate A4 Magnetic Double Sided Study Board Dotted Thirds	1	Yes	\$3.41	\$3.41
SMGCHERLGE	Studymate Eraser Large	1	Yes	\$0.17	\$0.17
SMGDB1096R	Studymate A4 70gsm Recycled 10mm Grid Book 96 Page	1	Yes	\$1.69	\$1.69
SMHY2376AS	Studymate Highlighters 6 Pack Assorted	1	Yes	\$4.86	\$4.86
SMMESHPCA4	Studymate A4 Mesh Pencil Case Clear	1	Yes	\$4.64	\$4.64
SMRECEB96R	Studymate A4 70gsm 8mm Ruled Recycled Exercise Book 96 Page	6	Yes	\$1.25	\$7.50
SMWDRL30CM	Studymate Wooden Ruler 30cm	1	Yes	\$0.50	\$0.50
ST185C12	Staedtler Noris Coloured Pencils 12 Pack	1	Yes	\$2.40	\$2.40
ST3060N2OW	Staedtler Natural Graphite Pencils HB	10	Yes	\$0.39	\$3.90
AC20110BE	J.Burrows Document Wallet Foolscap Hook and Loop Closure Blue	2	Yes	\$2.20	\$4.40
KEBOTBK96R	Keji A4 55gsm 8mm Botany Book 96Pg	1	Yes	\$0.59	\$0.59
KEMCBK96R	Keji A4 55gsm 8mm Music Exercise Book 96 Page	1	Yes	\$0.59	\$0.59

				Grand Total	\$106.14
				Sub Total	\$106.14
BO202118	Bostik Glu Stik 35g	1	Yes	\$1.60	\$1.60
FAA5055112	Faber-Castell Fibre Tip Colouring Pens 12 Pack	1	Yes	\$4.79	\$4.79
ST43235M6S	Staedtler Stick 432 Ice Triangular Ballpoint Pen Purple	5	Yes	\$0.99	\$4.95
KEA5PPNBBK	Keji A5 Notebook 200 Pages Black	2	Yes	\$1.99	\$3.98

Date: 01-Nov-2024